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2A =H
Hu: FO=NEM(ZEQ)
Chol: oIS A CERED
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
OMOt=2=s s8=s823 22| 1,200
OMOls2s SsHsSRUHS 24l 1,200
Ott2Aa)I2s sHsE A 234l 1,200
405 Kot S| 3,000 0 3,000
02 STl 3,000 0 3,000
OHAHEED TA7L 3,000
ARIRSENY(=SH) 200,500 100,500 100,000
Fo=JAAMNY 200,500 100,500 100,000
FOl=2AAr (XHAI) 200,500 100,500 100,000
401 AlEHIZ 2] 200,500 100,500 100,000
01 Al&H| 200,000 100,000 100,000
Odd=s2L2H 25,000
OY4d=s22d 25,000
Oded==22H 25,000
Osg=z22%d 25,000
OltsZeszxd 50,000
Oaxn2F0=HAE ol & 50,000
03 Al R0 500 500 0
OFDI=RAALY HoAE A 500
HY2HHH(=SH) 165,573 151,963 13,610
o3 2| 67,709 64,793 2,916
A2HHI (KA 67,709 64,793 2,916
101 14| 67,709 64,793 2,916
01 2=+ 67,709 64,793 2,916
OAIZt2l 22Y 67,709
—5= 9,796& 45 A 21 1201 & 5,290
—6= 8,312 x45A| 2Ex5F 1204 & 22,443
—7= 7,457 45N 2Ex5G 1200 & 20,134
—8= 6,682 x45 A1 2Hx2H 1200 & 7,217
—9= 5,993& *x45A| 2Hx3H 1201 & 9,709
— NS 64,791,360& *0.045 2,916
| =&l 97,864 87,170 10,694
J12Z I (XAl 97,864 87,170 10,694
201 ety 34,354 30,610 3,744
01 AFR 22l 19,954 18,610 1,344
Ogr=ZH| 7,584
— AR =2 7,584
o2d=¢ 5,650
—g - =2 5,650
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2A =H
Y HH2HAH(=SH)
&2l Jl=3Hl (e E2
A BB O(B) - NEAY - BAS sy S RS2
Ol &
OF=3=i:] 6,720
02 23234l 14,400 12,000 2,400
O=3322Y% HA 14,400
AR BER3 14,400
202 O4H| 46,080 42,240 3,840
01 =LA bI 3,840 3,840 0
O=WAbl 3,840
02 EHHYI 42,240 38,400 3,840
OF-E0 )] 42,240
203 YR EAY| 11,440 11,440 0
01 J|22IFRF&H| 6,600 6,600 0
OJ22FHRFA 550,000& = 12& 6,600
02 FRIALSF=EH| 640 640 0
OX A &= 40,0003 x164Y 640
04 EA2ISRFEHI 4,200 4,200 0
ORNMZBEHEFA 350,000& x12& 4,200
405 AHoHESHI 5,990 2,880 3,110
01 AHaLE2BFHSHI 5,990 2,880 3,110
O3lolal Bz il (14]) 5,000
Ou 3| 70,0003 +7CH 490
OC X &ttt Wl (1CH) 500
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SN 2ot
Hm: EOI=XEX(200)
Chol: oIS A (ol @ e
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
cSH I T2 ° . [= Bl e =5 0:”/|l|,% Lsa
Ott2Aalizs sHsE2s 249 1,200
401 A &HIL 2048 9,100 6,300 2,800
01 Al&H| 9,100 6,300 2,800
OQZOoHel HoAlA 7,100
—HE=sd 3 A 2 84 7,100
O A= 2,000
ARSI L (20t 200,500 150,500 50,000
=2 200,500 150,500 50,000
Ol=2 AP (RHAI) 200,500 150,500 50,000
401 Al&HIZ 20| 200,500 150,500 50,000
01 Al&H| 200,000 150,000 50,000
oRz =2 & 20,000
Oolgs AUz F 20,000
OOXlal =2 T 20,000
022 th+z Zy| 20,000
OdY =2 Z& 20,000
UL, 50,000
Oxn2F0=HAE & 50,000
03 Al 2 0HY| 500 500 0
OFDI=2AAY HoAE oA 500
B 22| (o) 171,626 165,572 6,054
223l 72,754 72,382 372
A2HHI (KA 72,754 72,382 372
101 14| 72,754 72,382 372
01 B+ 72,754 72,382 372
OAlzte 2249 72,754
—5= 9,796 *45A| 2tx 12 +1H 5,290
—6= 8,312 x45A| 2t 12& x5 H 22,443
—7= 7,457 3 *45A] 2t x 123 x5 H 20,134
—8= 6,6823 45 A 2+ 122 +6H 21,650
—9= 5,993 x45A| 2hx 128 x1H 3,237
=[F 98,872 93,190 5,682
J12Z I (XAl 98,872 93,190 5,682
201 ety 34,162 32,650 1,512
01 AFR 22l 22,162 20,650 1,512
Ogr=ZH| 8,952
— AR =2 8,952
o2d=¢ 5,650
—g - =2 5,650
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SA: Sotat
B WESAAY (2010)
&2l Jl=3Hl (e E2
A BB O(B) - NEAY - BAS sy S RS2
Ol &
OF=3=i:] 7,560
02 23234l 12,000 12,000 0
OS223 XA 12,000
— A2 4 12,000
202 O4H| 51,840 47,520 4,320
01 =LA bI 4,320 4,320 0
O=WAbl 4,320
02 EHHYI 47,520 43,200 4,320
OF-E0 )] 47,520
203 HRF&H| 11,520 11,520 0
01 J|22IFRF&H| 6,600 6,600 0
OJ22FHRFA 550,000& = 12& 6,600
02 FRIALSF=EH| 720 720 0
OX A &= 40,000 =189 720
04 EA2ISRFEHI 4,200 4,200 0
ORNMZBEHEFA 350,000& x12& 4,200
405 XH&HFESHI 1,350 1,500 A150
01 AHaLE2BFHSHI 1,350 1,500 A 150
oorsaMyIsl (101) 250
OCU X &3toiiet (1) 500
O2M &3] (1h) 600
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2A: BEH
M. FUEXNSH(HEH)
¢ F0sXHS A
N33 . c2(3H) - NEME - HES AL OH HNE T —
O&AN ZZs= 2l 1,000
O1EAI24 HE WM™ & 3,000
ARPXENS(HEH) 200,500 100,500 100,000
=2 AL 200,500 100,500 100,000
Ol AL (XA 200,500 100,500 100,000
401 AlEHIL =20 200,500 100,500 100,000
01 Al&HI 200,000 100,000 100,000
Ou=&&H| 25,000
Osltsg2 % 16,000
OEXIoIE2et2 & 20,000
OX&OISHEAEEX 14,000
OJt=2 82 Fl 13,000
OxHilszx 12,000
Ol Y=s=2 2 & 50,000
OAxABFU=HAISN A 50,000
03 AI&=2UI 500 500 0
OFD=JAIY HAALE oA 500
HYSHHAH(HEH) 141,528 136,246 5,282
ol 2| 57,112 56,556 556
AS2HH|(KHAI) 57,112 56,556 556
101 Q124 4| 57,112 56,556 556
01 2= 57,112 56,556 556
OAIZtR 22=Y 57,112
—53 9,796 *45A| 2t 128+ 1Y 5,290
—6=2 8,312& 45\ 2H+ 12 x5 22,443
—-72 7,457 3 45N 2t+ 128 x3Y 12,081
—8= 6,682% *45A| 2t 128 +3H 10,825
—-92 5,993*%45A| 2t 128 2 H 6,473
ZHl 84,416 79,690 4,726
JI2HdI (XA 84,416 79,690 4,726
201 LBt H| 30,946 29,770 1,176
01 At=2teltl 18,946 17,770 1,176
Ogt+=gH| 7,416
— AR+ 7,416
o=2g=Y 5,650
—2 - =3 5,650
O= &l 5,880
02 S==294| 12,000 12,000 0
OZ2Z2L2YMA 12,000
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SN UYS
HE: FOI=SNSA(HLS)
Sl FoI=HE

_ _ pSNE e
SN S(B) - NRAY - B2 arey e =
OMit==2sE o3 24EH| 1,200
OMit==2s8 Hal 2l 1,200
OttEializs sEsE2= 24| 1,200
401 A EHIL 201 4,000 4,900 A 900
01 Al&HI 4,000 4,900 A 900
O&EXNEXHY vl 4,000
405 XtobHE SHI 3,760 25,000 A21,240
01 IAL=ZSFHSH 3,760 25,000 A21,240
OX&A oAt 170,000& 8K 1,360
o4t ¥ &Xt 400, 000& *6 4 2,400
ARSASENL (LY S) 50,300 50,300 0
Fo=JA AN 50,300 50,300 0
FOI=3 At (KHAI) 50,300 50,300 0
401 Al&HI LS04I 50,300 50,300 0
01 Al&H| 50,000 50,000 0
O28Es =238 10,000
Ogds s=z&| 10,000
OAHIL2E A 15,000
OEz2gH =3t 10,000
OAE F=C=SHEHHA 5,000
03 AIER0H 300 300 0
OZDI=2AAY A0 AL G4 300
HZ2LZH(UHLS) 114,433 114,015 418
ol 2| 43,975 44,065 A0
oA 2| (XHAl) 43,975 44,065 A90
101 @1 ZH| 43,975 44,065 290
01 = 43,975 44,065 A90
OAZte 22+ 43,975
—55 9,796 *45A| 2+ 128 «1H 5,290
—6= 8,312 *45A 2tx 123 1Y 4,489
—7= 7,457 45N 2E+ 123 x5H 20,134
—8= 6,682 *45A| 2+ 12 «3H 10,825
—9= 5,993 «45A| 2tx 128 1Y 3,237
Jl=2Z 4l 70,458 69,950 508
JI2Z (XA 70,458 69,950 508
201 B3| 28,738 27,310 1,428
01 AtR 22/t 16,738 15,310 1,428
Ogt==2H| 6,048
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A UHOIS

A USRS (UH0IS)

Sl FOI=RHE (649l &2
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE

307 12+0IH 3,600 3,600 0

03 ABISHHIZES 3,600 3,600 0
OMOl22S Seisssl 2| 1,200
OMOlZ2S SHSRHE 2| 1,200
OoHt2NHalI2s sessls 2| 1,200

401 AISHIL L] 3,000 8,200 A5,200

01 Al&| 3,000 8,200 A5,200
Oga3e ¢ 8238 &X 3,000

405 RH&HF S| 2,250 19,100 16,850

01 KoL 2EH S| 2,250 19,100 16,850
OHIEI& x| 500,0002 x2CH 1,000
O=2222((1t) 450
OBl2A TR (10) 800

ATRSTHHL(LHOIS) 50,300 50,300 0

ZOIEAAY 50,300 50,300 0

Z0IS A (RHA) 50,300 50,300 0

401 AEHILS 50,300 50,300 0

01 Al&| 50,000 50,000 0
OWONE 3t4=7 =l 20,000
OLH0l12S OfRI0IBY =3 5,000
OUoI6S S4+Es 22 10,000
OWoIS = A Bl 5,000
OouoIzs c224+ 10,000

03 A& =l 300 300 0
OZDISAAY A0 A S GHA 300

HESHAH(LHOIS) 126,248 132,586 16,338

olz 2 gy 48,900 48,046 854

olzi2 2| (XHA) 48,900 48,046 854

101 Q124 48,900 48,046 854

01 B 48,900 48,046 854
OAIRtel 224 48,900
—53 9, 7962 *45A| 2t 122 * 12 5,290
—63 8,312 %451 2% 122+ 1 4,489
-73 7 4572 %45 A] 2% 128 %4 16,108
—83 6,682 *45 Al 2t 122 x4 14,434
-93 5,993 *45 Al 2+ 122 %2 6,473
—HRNAES 46,791,000210.045 2,106

PN 77,348 84,540 AT7,192
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SN

LHols

FE: HHE2IZHI(H0IS)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B sk als B RS2
0f 4 o8
JI2Z I (XA 77,348 84,540 AT,192
201 Let2d| 32,738 31,310 1,428
01 AtE22|HI 16,738 15,310 1,428
Oget=g| 6,048
— AR 4 =8l 6,048
o=d=+¢ 5,650
—2 - =AY 5,650
o=l 5,040
02 =234l 16,000 16,000 0
OSEL3 LA 16,000
— AR 16,000
202 O4Hl 31,680 31,200 480
01 S YI 2,880 3,120 A240
O=WHHbI 2,880
02 EAHNHI 28,800 28,080 720
OZ A0 28,800
203 HRF&H| 10,080 10,080 0
01 JI22F L= 6,600 6,600 0
OJI22ZHRFA 550,000& «12& 6,600
02 HANMMHRF=EHI 480 480 0
(OFSF- PN\ PIFSESs 40,0003 x12% 480
04 RA2ILRF=LH 3,000 3,000 0
ORNM2IHRFL 250,000& 128 3,000
206 M=l 2,500 0 2,500
01 Mz bl 2,500 0 2,500
O&1 &Et X 2,500
405 AHoHESHI 350 11,950 A 11,600
01 T =S HSHI 350 11,950 A 11,600
OARd &30 70,0002 «504 350
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PR SN (ES)
el FR=XHE OB
NI . CtO (5 HEAS . Y2 A} OH HEE Hl o =2t
.O—|.|_T|(2|j:”). '“—l— I'I:J';O—i =5 0:”/&,% |J-|-6C1
QI2t01 ™ 3,600 3,600 0
AMISHHNELZZ 3,600 3,600 0
OMitsz=s ¢ o3 2&H| 1,200
OMitsz=s =S¢ Hal 29| 1,200
Ott2AHlI2s =893 29l 1,200
A& S| 1,500 3,000 A 1,500
ST 1,500 0 1,500
OXXEH SH TN 1,500
A g (ns) 50,300 50,300 0
At e 50,300 50,300 0
2AAR (XEA) 50,300 50,300 0
401 AIEHIZ 2 50,300 50,300 0
01 Al&HI 50,000 50,000 0
Olbr=erZ &l 20,000
Ol F0U= off & 30,000
03 Al 20HY| 300 300 0
OZFoI=R A SRPS 300
e H(wS) 115,692 130,628 AN 14,936
]l 44,394 40,738 3,656
A2 AU (KA 44,394 40,738 3,656
ol 24| 44,394 40,738 3,656
2 44,394 40,738 3,656
OAl2te 2824 44,394
—5= 9,796 x45A| 2t 12+ 1Y 5,290
—6= 8,312& 45| 2hx 128 x1H 4,489
—7= 7,457 3 45| 2hx 128 6H 24,161
—8= 6,682 x45A| 2tx 12E «2H 7,217
—9= 5,993% *45A| 2t 12& 1 3,237
71,298 89,890 A 18,592
=228 (KA 71,298 89,890 A 18,592
B2 A | 27,738 25,890 1,848
AR 22l 16,738 14,890 1,848
Ogt=ZH| 6,048
— AR 4 =ZH] 6,048
o2d=+¢ 5,650
- - &3y 5,650
O =&l 5,040
23222l 11,000 11,000 0
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2N M2S
. FoU=SNSA(M2S)

Chel: Fol=X sy (crol M)
_ _ pSNE N
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Om;g; Hws2

307 912+0| & 3,600 5,640 22,040
03 ASIEHHIE X3 3,600 3,600 0
OMitlses sHsEs 2|
300,0008 +42 7| 1,200
OMitE2E SHSRHS 29|
300,0002 x4 | 1,200
oHi2NAlIes SHSEAS 23|
300,0008 x42 7] 1,200
401 AlSHIZ SO 6,800 6,000 800
01 Al&H 6,800 6,000 800
O=Egeel 2 8 6.800
AR (A2S) 50,300 50,300 0
FOl=RAY 50,300 50,300 0
OIS AY (REAI) 50,300 50,300 0
401 AlHIZ SO 50,300 50,300 0
01 Al&H 50,000 50,000 0
Osta7 F 30,000
OARZ FOUSBAS 4 20,000
03 Al&=THI 300 300 0
OFIHSAY HOIAE df2 300
UHSAHH (M2S) 133,748 144,341 A10,593
olzie oyl 54,382 54,471 A89
ol 2 I (XHA) 54,382 54,471 A89
101 @124t 54,382 54,471 A89
01 84 54,382 54,471 89
OAZtel 224g 54,382
—52 9,796 x45A1 25122 * 1 5,290
—62 831221 x45A| 2+ 122 51 4,489
72 7, 45721 <45 NI 205122 54 16,108
—-82 6,682 x45A| 2% 122 %7 25,258
—-92 5,093 %45 A 2+ 122+ 1Y 3,237
123l 79,366 89,870 10,504
J1=2 Bl (R 79,366 89,870 10,504
201 Luregy| 30,746 29,150 1,596
01 AFR221H| 17,746 16, 150 1,596
OYpr+gH| 6,216
—ARA S| 6,216
o2g+g 5,650
- - ==Yl 5.650
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SN OHES
Ha: FR=NSAOIRE)
SR HETEIEE (29l &
_ _ - NEc
SN -FH . SA(BA) - HPAY - BES Ofl & 04 il ot o HDZ2
OXNZMIXNA e+ 6002 *3,800& 2,280
307 2120l & 3,600 5,640 A2,040
03 At2IEHMEXES 3,600 3,600 0
OMDlg eS8 ols 22| 1,200
OMOS2S SEsSRHs 29| 1,200
oHlEHales SHSHolE 2| 1,200
401 AIEHIZ 208 13,300 6,100 7,200
01 A&l 13,300 6,100 7,200
Ostza el2gy 7,000
OmzE2 9 82 6,300
AR EXANL(=2S) 50,300 50,300 0
FOI=3 A 50,300 50,300 0
== A (XHA) 50,300 50,300 0
401 Al&HIL = Y| 50,300 50,300 0
01 A&l 50,000 50,000 0
OltsgH =4 1ia 20,000
Ontgerz | 2H4 30,000
03 A&=20HYI 300 300 0
OFDI%BIALY 2A0IAS 4 300
HH2 YA (IR S) 134,511 125,292 9,219
el 2| 52,029 52,072 N43
oA AHI(XHAI) 52,029 52,072 N43
101 Q1A H] 52,029 52,072 AN43
01 2=+ 52,029 52,072 A43
OAlZtel 22+ 52,029
—55 9,796 *45A| 2t x 123 «1H 5,290
= 8,312 »45A1 2t 128 1Y 4,489
-72 7,457 %45A1 212857 28, 188
—8a 6,682 «45A| 2t 123 «3H 10,825
—95 5,993& #45A[ 2t 128 1 3,237
Jl=34l 82,482 73,220 9,262
Jl2ZHI (XA 82,482 73,220 9,262
201 et 29,242 28,150 1,002
01 At 2t2ibl 17,242 16,150 1,092
Oget=ZH| 6,132
—Aea2 6,132
osgsg 5,650
- - HEy| 5,650
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